630 RiEE- SECER sELabt »www.iwata-fa.jp  [ED s#usEE » monodukuri.iwata-fa. jp

M LURIL R S4T PA

CHEDY A XITH. HED SRIELET .

|
I
o
@
2-¢d ,

| < T
O © *f
[
4-C1 P 2-RENFTRIV BT
L

-

ME RELIE
$% SS400. B% 5
X7 > L X SUS304

REAIL b~
SR - A R - P -
SREEAIL b FETE 1 mmBLfT i (F9)

FI R xEYF ¢d " o B H L T z s
M [ N@ER) | HmE) B%(RED) | A7>L2
4 | M4x0.7 - 3.5(M3H) [10~ 30| 9~11 5 |A+10| 22 6 1,100 1,650
5 | M5%0.8 - 4.5(M4M) (10~ 30/ 10~13| 6 |A+12| 25 9 1,160 1,650
6 | M6Xx1.0 IM6Xx0.75| 55(M5/) |13~ 40| 12~18| 7 |A+14| 32 9 1,210 1,980
8 |M8x1.25/M8x0.75| 6.6(M6M) [15~ 45/ 13~23| 8 |A+16| 38 | 12 1,430 2,750
10 |M10x1.5|M10x1.0| 9(M8H) [20~ 60| 16~26| 10 |A+20| 44 | 16 1,760 3,300
12 |M12x1.75M12x1.0|11(M10H/) |25~ 75| 20~28 | 12 |A+23 | 50 | 19 2,530 4,400
16 |M16%x2.0|M16x1.5|14(M12H) |28~ 85| 22~41 | 15 | A+27 | 65 | 22 3,300 5,170
20 [M20x2.5|M20x1.5|14(M12f) |35~100| 22~41 | 18 | A+30| 65 | 22 3,300 5,170

FECTTTTRTPPROIRN RIWFHALZX M =16
PP oy E#<Fi% A = 30mm

BPAF 16 N A30 P30 Z

~xYEYF = N(th) ~~~~~~~~ BAARE Y F P =30mm

”
’

iwata





